BID TABULATION FOR: CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

JUNE 7, 2024 LJA ENGINEERING, INC.

L. MARTINEZ JUNE 7, 2024 1968-14032 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT BID

# BIDDER'S NAME

1) KENNETH LAMB CONSTRUCTION CO., LTD.	\$1,415,904.00
2) TMW LAND SERVICES	\$1,464,204.00
3) TEXASITE, LLC	\$1,478,695.00
4) CROSTEX CONSTRUCTION, INC.	\$1,523,000.00
5) BLAZEY CONSTRUCTION SERVICES, LLC	\$1,533,508.83
6) R CONSTRUCTION CIVIL, LLC	\$1,549,176.30

CALENDAR DAYS 45/55

I, Presley Lundquist, PE, hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 7, 2024 LJA ENGINEERING, INC.

L. MARTINEZ JUNE 7, 2024 1968-14032 (9.2)

LUA GOD NO.				300 1400E (3.E)					
				1) KENNETH LAMB CONSTRUCTION CO.,LTD.		2) TMW LAND	SERVICES	3) TEXASIT	E, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO.	158 WATER ITEMS								
ALL FITTINGS AND VALVES (TE	-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES EES, BENDS, TRACER WIRE, CONNECTORS, ETC), BEDDING AND BACKFILL, COMPLETE IN	LF	267	\$20.00	\$5,340.00	\$21.00	\$5,607.00	\$20.00	\$5,340.00
ALL FITTINGS AND VALVES (TE	-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES EES, BENDS, TRACER WIRE, CONNECTORS, ETC), BEDDING AND BACKFILL, COMPLETE IN	LF	435	\$27.00	\$11,745.00	\$30.00	\$13,050.00	\$30.00	\$13,050.00
ALL FITTINGS AND VALVES (TE	.900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES EES, BENDS, TRACER WIRE, CONNECTORS, ETC), BEDDING AND BACKFILL, COMPLETE IN	LF	2195	\$41.00	\$89,995.00	\$44.00	\$96,580.00	\$45.00	\$98,775.00
	EPTHS, INCLUDES APPROPRIATE TEE, 6" GATE SHING VALVE, COMPLETE IN PLACE	EA	6	\$5,727.00	\$34,362.00	\$6,500.00	\$39,000.00	\$6,574.00	\$39,444.00
5 2" BLOW-OFF VALVE AND BOX	ASSEMBLY, COMPLETE IN PLACE	EA	4	\$654.00	\$2,616.00	\$1,000.00	\$4,000.00	\$726.00	\$2,904.00
6 PLUG AND CLAMP (ALL SIZES	AND DEPTHS), COMPLETE IN PLACE	EA	4	\$202.00	\$808.00	\$250.00	\$1,000.00	\$613.00	\$2,452.00
ASSEMBLY, CONNECT PROPO ADDITIONALLY INCLUDES ALL	& CLAMP (ALL SIZES), 2" BLOW-OFF VALVE & BOX SED 8" WATER LINE TO EXISTING 8" WATER LINE, NECESSARY ADAPTERS AND CONNECTORS, AND ATER LINE AS APPLICABLE, COMPLETE IN PLACE	EA	2	\$498.00	\$996.00	\$550.00	\$1,100.00	\$661.00	\$1,322.00
8 TRENCH SAFETY, ALL SIZES A	ND DEPTHS, COMPLETE IN PLACE	LF	2897	\$1.00	\$2,897.00	\$1.00	\$2,897.00	\$1.00	\$2,897.00
MONTGOMERY COUNTY M.U.D. NO. 1	158 WATER ITEMS SUBTOTAL:				\$148,759.00		\$163,234.00		\$166,184.00
MONTGOMERY COUNTY M.U.D. NO.	158 SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, ASTM D-3 BEDDING AND BACKFILL, COM	3034, SDR 26, 0' - 8' CUT, INCLUDES STANDARD PLETE IN PLACE	LF	955	\$34.00	\$32,470.00	\$34.00	\$32,470.00	\$46.00	\$43,930.00
2 8" PVC SEWER PIPE, ASTM D-3 BEDDING AND BACKFILL, COM	3034, SDR 26, 8' - 12' CUT, INCLUDES STANDARD PLETE IN PLACE	LF	1301	\$36.00	\$46,836.00	\$35.00	\$45,535.00	\$48.00	\$62,448.00
3 8" PVC SEWER PIPE, ASTM D-3 BEDDING AND BACKFILL, COM	3034, SDR 26, 12' - 16' CUT, INCLUDES STANDARD PLETE IN PLACE	LF	261	\$38.00	\$9,918.00	\$37.00	\$9,657.00	\$52.00	\$13,572.00
INCLUDES PLASTIC INFLOW P	SANITARY SEWER MANHOLE (0' – 10' DEPTH), ROTECTOR, PROTECTIVE INTERIOR COATING PER IENTS AS REQUIRED, COMPLETE IN PLACE	EA	9	\$3,471.00	\$31,239.00	\$4,500.00	\$40,500.00	\$4,125.00	\$37,125.00
PLASTIC INFLOW PROTECTOR	TARY SEWER MANHOLE (0' - 10' DEPTH), INCLUDES R, PROTECTIVE INTERIOR COATING PER DETAILS, REQUIRED, COMPLETE IN PLACE	EA	4	\$4,576.00	\$18,304.00	\$6,100.00	\$24,400.00	\$5,481.00	\$21,924.00
6 EXTRA DEPTH FOR 5' DIAMETE COMPLETE IN PLACE	ER SANITARY SEWER MANHOLE (OVER 10' DEPTH),	VF	10	\$345.00	\$3,450.00	\$300.00	\$3,000.00	\$300.00	\$3,000.00
26, (ALL DEPTHS), INCLUDING	E 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR CEMENT STABILIZED SAND BACKFILL, RISER, YE, PLUG, MARKER, ANY NECESSARY FITTINGS,	EA	11	\$3,067.00	\$33,737.00	\$3,900.00	\$42,900.00	\$3,546.00	\$39,006.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 7, 2024 LJA ENGINEERING, INC.

LJA ENGINEERIN L. MARTINEZ JUNE 7, 2024 1968-14032 (9.2)

				1) KENNETH LAMB ( CO.,LT		2) TMW LAND	SERVICES	3) TEXASIT	FE, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SDF	ORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, R 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, STACK, E, PLUG, MARKER, ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	15	\$1,754.00	\$26,310.00	\$2,200.00	\$33,000.00	\$1,822.00	\$27,330.00
9 STA PLA	NDARD SANITARY SEWER DROP CONNECTION (ALL DEPTHS), COMPLETE IN CE	EA	3	\$794.00	\$2,382.00	\$600.00	\$1,800.00	\$613.00	\$1,839.00
	RE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" IITARY SEWER LINE TO EXISTING MANHOLE, ALL DEPTHS, COMPLETE IN CE	EA	1	\$1,501.00	\$1,501.00	\$1,500.00	\$1,500.00	\$1,452.00	\$1,452.00
DEF C90 APF	DITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL VTHS, INCLUDES UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA 0 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE ILICABLE AND RESTRAINED JOINT FITTINGS, INCLUDES CEMENT STABILIZED ID BACKFILL, COMPLETE IN PLACE	EA	4	\$200.00	\$800.00	\$1,100.00	\$4,400.00	\$100.00	\$400.00
12 TRE	NCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3239	\$1.00	\$3,239.00	\$1.00	\$3,239.00	\$1.00	\$3,239.00
MONTGO	MERY COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS SUBTOTAL:				\$210,186.00		\$242,401.00		\$255,265.00
MONTGO	MERY COUNTY M.U.D. NO. 158 STORM SEWER ITEMS								
	RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING BACKFILL, COMPLETE IN PLACE	LF	306	\$62.00	\$18,972.00	\$72.00	\$22,032.00	\$74.00	\$22,644.00
	RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING DACKFILL, COMPLETE IN PLACE	LF	731	\$89.00	\$65,059.00	\$86.00	\$62,866.00	\$90.00	\$65,790.00
	RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING BACKFILL, COMPLETE IN PLACE	LF	338	\$105.00	\$35,490.00	\$114.00	\$38,532.00	\$112.00	\$37,856.00
	RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING BACKFILL, COMPLETE IN PLACE	LF	72	\$146.00	\$10,512.00	\$156.00	\$11,232.00	\$150.00	\$10,800.00
	RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING DBACKFILL, COMPLETE IN PLACE	LF	416	\$198.00	\$82,368.00	\$205.00	\$85,280.00	\$199.00	\$82,784.00
	RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING BACKFILL, COMPLETE IN PLACE	LF	365	\$234.00	\$85,410.00	\$242.00	\$88,330.00	\$235.00	\$85,775.00
	RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING DBACKFILL, COMPLETE IN PLACE	LF	788	\$338.00	\$266,344.00	\$348.00	\$274,224.00	\$350.00	\$275,800.00
	RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING BACKFILL, COMPLETE IN PLACE	LF	496	\$391.00	\$193,936.00	\$406.00	\$201,376.00	\$399.00	\$197,904.00
AND	NDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 42° STORM SEWERS O SMALLER, ALL DEPTHS, INCLUDES FINAL ADJUSTMENTS AS REQUIRED, IPLETE IN PLACE	EA	7	\$3,269.00	\$22,883.00	\$3,500.00	\$24,500.00	\$3,616.00	\$25,312.00
	NDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 48" STORM SEWERS D LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	15	\$5,961.00	\$89,415.00	\$4,300.00	\$64,500.00	\$4,972.00	\$74,580.00
DEF	GE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C"), ALL PTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, IPLETE IN PLACE	EA	26	\$1,726.00	\$44,876.00	\$1,600.00	\$41,600.00	\$1,808.00	\$47,008.00
	GE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED INCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	26	\$2,786.00	\$72,436.00	\$1,600.00	\$41,600.00	\$1,808.00	\$47,008.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 7, 2024 LJA ENGINEERING, INC.

LJA ENGINEERIN L. MARTINEZ JUNE 7, 2024 1968-14032 (9.2)

LJA JOB NO.			1	968-14032 (9.2)					
				1) KENNETH LAMB C CO.,LT		2) TMW LAND S	SERVICES	3) TEXASIT	E, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	RECAST OR CAST-IN-PLACE REINFORCED CONCRETE INCLUDES INLET PROTECTION BARRIER FOR STAGE I E	EA	2	\$1,726.00	\$3,452.00	\$3,300.00	\$6,600.00	\$1,808.00	\$3,616.00
14 STAGE II – STANDARD 20' F INLET ("C-1") ALL DEPTHS,	PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE COMPLETE IN PLACE	EA	2	\$4,561.00	\$9,122.00	\$3,300.00	\$6,600.00	\$2,825.00	\$5,650.00
	ST-IN-PLACE BOX INLET WITH EJ 6500 BEEHIVE RARY GRATE PLUG AS NECESSARY, ALL DEPTHS,	EA	2	\$2,151.00	\$4,302.00	\$3,900.00	\$7,800.00	\$3,390.00	\$6,780.00
SIDES, RE-ESTABLISH BAC	CRETE SLOPE PAVING, INCLUDES TOEWALLS ALL KSLOPE SWALE & REDRESS AND REVEGETATE SIDE ITION OR BETTER, COMPLETE IN PLACE	SY	151	\$140.00	\$21,140.00	\$105.00	\$15,855.00	\$136.00	\$20,536.00
17 TRENCH SAFETY SYSTEM,	ALL DEPTHS, COMPLETE PLACE	LF	3517	\$1.00	\$3,517.00	\$1.00	\$3,517.00	\$1.00	\$3,517.00
MONTGOMERY COUNTY M.U.D. N	O. 158 STORM SEWER ITEMS SUBTOTAL:				\$1,029,234.00		\$996,444.00		\$1,013,360.00
MONTGOMERY COUNTY M.U.D. N	IO. 158 MISCELLANEOUS ITEMS								
1 STABILIZED CONSTRUCTIO MAINTENANCE, COMPLETE	N EXIT, INCLUDING INSTALLATION AND IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$200.00	\$200.00
OFF-ROAD TO OFFSITE FIL	D QUANTITY OF 5,800 CUBIC YARDS) TO BE HAULED L AREA (NO MORE THAN 1 MILE ROUND TRIP), D TO 95% STANDARD PROCTOR DENSITY, COMPLETE	LS	1	\$11,600.00	\$11,600.00	\$14,000.00	\$14,000.00	\$4,000.00	\$4,000.00
	INSPECTION REPORTS CONDUCTED ON A WEEKLY Q PERMIT, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$1,356.00	\$1,356.00
4 FURNISH PERFORMANCE A COMPLETE IN PLACE	AND PAYMENT BONDS PER CONTRACT DOCUMENTS,	LS	1	\$8,500.00	\$8,500.00	\$38,000.00	\$38,000.00	\$32,205.00	\$32,205.00
	D SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED OF ENGINEER) COMPLETE IN PLACE	CY	1	\$15.00	\$15.00	\$15.00	\$15.00	\$15.00	\$15.00
	LINES, ALL LINES SIZES AND DEPTHS, (TO BE USED OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
7 EXTRA WATER LINE FITTIN	GS, COMPLETE IN PLACE	TON	0.01	\$10,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$100.00
8 EXTRA 6" AWWA GATE VAL DIRECTION OF THE ENGINE	LVE AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE EER) COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
9 EXTRA 8" AWWA GATE VAL DIRECTION OF THE ENGINE	LVE AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE EER) COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
	ALVE TO FINISHED GRADE AS REQUIRED (TO BE USED OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
	SEWER WET SAND CONSTRUCTION, ALL LINE SIZES ONLY AT THE DIRECTION OF THE ENGINEER),	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
	EWER WET SAND CONSTRUCTION, ALL LINE SIZES O ONLY AT THE DIRECTION OF THE ENGINEER),	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
	D CONSTRUCTION UNDER MANHOLE, ALL DEPTHS, (TO ECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$50.00	\$50.00	\$50.00	\$50.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

JUNE 7, 2024

LJA ENGINEERING, INC.

L. MARTINEZ JUNE 7, 2024 1968-14032 (9.2)

			1) KENNETH LAMB CONSTRUCTION CO.,LTD.		2) TMW LAND SERVICES		3) TEXASITE, LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
14 ADJUST EXISTING MANHOLE RIM ELEVATION AS REQUIRED (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
15 EXTRA HYDRO-MULCH SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
16 EXTRA BROADCAST SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$450.00	\$450.00	\$450.00	\$450.00	\$450.00	\$450.00
17 EXTRA REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
18 EXTRA FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
19 EXTRA BURLAP BAG BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
MONTGOMERY COUNTY M.U.D. NO. 158 MISCELLANEOUS ITEMS SUBTOTAL:				\$27,725.00		\$62,125.00		\$43,886.00
BIDDING SUMMARY								
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 158 WATER ITEMS				\$148,759.00		\$163,234.00		\$166,184.00
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS				\$210,186.00		\$242,401.00		\$255,265.00
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 158 STORM SEWER ITEMS				\$1,029,234.00		\$996,444.00		\$1,013,360.00
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 158 MISCELLANEOUS ITEMS				\$27,725.00		\$62,125.00		\$43,886.00
TOTAL AMOUNT BASE BID				\$1,415,904.00		\$1,464,204.00		\$1,478,695.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 7, 2024 LJA ENGINEERING, INC. L. MARTINEZ JUNE 7, 2024

			4) CROSTEX CONS	TRUCTION, INC.	5) BLAZEY CONSTRUCT	TION SERVICES, LLC	6) R CONSTRUCT	ION CIVIL, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO. 158 WATER ITEMS								
1 4" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	267	\$20.00	\$5,340.00	\$25.00	\$6,675.00	\$17.00	\$4,539.00
2 6" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	435	\$29.00	\$12,615.00	\$34.00	\$14,790.00	\$29.00	\$12,615.00
3 8" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2195	\$42.00	\$92,190.00	\$48.00	\$105,360.00	\$38.00	\$83,410.00
4 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	6	\$6,500.00	\$39,000.00	\$6,800.00	\$40,800.00	\$6,800.00	\$40,800.00
5 2" BLOW-OFF VALVE AND BOX ASSEMBLY, COMPLETE IN PLACE	EA	4	\$875.00	\$3,500.00	\$1,200.00	\$4,800.00	\$430.00	\$1,720.00
6 PLUG AND CLAMP (ALL SIZES AND DEPTHS), COMPLETE IN PLACE	EA	4	\$250.00	\$1,000.00	\$400.00	\$1,600.00	\$165.00	\$660.00
7 REMOVAL OF EXISTING PLUG & CLAMP (ALL SIZES), 2" BLOW-OFF VALVE & BOX ASSEMBLY, CONNECT PROPOSED 8" WATER LINE TO EXISTING 8" WATER LINE, ADDITIONALLY INCLUDES ALL NECESSARY ADAPTERS AND CONNECTORS, AND DISINFECTION OF EXISTING WATER LINE AS APPLICABLE, COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$550.00	\$1,100.00	\$265.00	\$530.00
8 TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	2897	\$1.05	\$3,041.85	\$0.11	\$318.67	\$0.10	\$289.70
MONTGOMERY COUNTY M.U.D. NO. 158 WATER ITEMS SUBTOTAL:				\$157,686.85		\$175,443.67		\$144,563.70
MONTGOMERY COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8' CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	955	\$37.00	\$35,335.00	\$41.00	\$39,155.00	\$30.00	\$28,650.00
2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1301	\$41.00	\$53,341.00	\$44.00	\$57,244.00	\$31.00	\$40,331.00
3 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' - 16' CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	261	\$46.00	\$12,006.00	\$48.00	\$12,528.00	\$42.00	\$10,962.00
4 STANDARD 4-FOOT DIAMETER SANITARY SEWER MANHOLE (0' – 10' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	9	\$5,500.00	\$49,500.00	\$3,900.00	\$35,100.00	\$4,250.00	\$38,250.00
5 STANDARD 5' DIAMETER SANITARY SEWER MANHOLE (0' - 10' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	S EA	4	\$7,900.00	\$31,600.00	\$6,100.00	\$24,400.00	\$7,400.00	\$29,600.00
6 EXTRA DEPTH FOR 5' DIAMETER SANITARY SEWER MANHOLE (OVER 10' DEPTH) COMPLETE IN PLACE	, VF	10	\$660.00	\$6,600.00	\$490.00	\$4,900.00	\$510.00	\$5,100.00
7 "FAR SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, STACK, DROP STRUCTURE, WYE, PLUG, MARKER, ANY NECESSARY FITTINGS,	EA	11	\$3,700.00	\$40,700.00	\$4,100.00	\$45,100.00	\$3,700.00	\$40,700.00

1968-14032 (9.2)

ETC., COMPLETE IN PLACE

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 7, 2024 LJA ENGINEERING, INC. L. MARTINEZ JUNE 7, 2024

TABULATION DATE: LJA JOB NO.				JNE 7, 2024 968-14032 (9.2)					
				4) CROSTEX CONS	TRUCTION, INC.	5) BLAZEY CONSTRUCT	TION SERVICES, LLC	6) R CONSTRUCT	ION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
SDR 26, (ALL DEPTHS)	E OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, ), INCLUDING CEMENT STABILIZED SAND BACKFILL, STACK, ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA	15	\$2,320.00	\$34,800.00	\$2,400.00	\$36,000.00	\$2,250.00	\$33,750.00
9 STANDARD SANITARY PLACE	SEWER DROP CONNECTION (ALL DEPTHS), COMPLETE IN	EA	3	\$750.00	\$2,250.00	\$1,150.00	\$3,450.00	\$460.00	\$1,380.00
	SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8" IE TO EXISTING MANHOLE, ALL DEPTHS, COMPLETE IN	EA	1	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$1,500.00	\$1,500.00
DEPTHS, INCLUDES UI C900 DR 18 PIPE FOR	R WATER AND SANITARY SEWER CROSSINGS, ALL PORADE TO 18' SECTION FOR RESTRAINED JOINT AWWA BOTH WATER AND SANITARY SEWER LINES WHERE STRAINED JOINT FITTINGS, INCLUDES CEMENT STABILIZED PLETE IN PLACE	EA	4	\$250.00	\$1,000.00	\$1,900.00	\$7,600.00	\$450.00	\$1,800.00
12 TRENCH SAFETY, ALL	SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3239	\$1.10	\$3,562.90	\$0.11	\$356.29	\$0.10	\$323.90
MONTGOMERY COUNTY M.U	I.D. NO. 158 SANITARY SEWER ITEMS SUBTOTAL:				\$272,694.90		\$267,733.29		\$232,346.90
MONTGOMERY COUNTY M.L	J.D. NO. 158 STORM SEWER ITEMS								
1 18" RCP STORM SEWE AND BACKFILL, COMPI	ER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	306	\$66.50	\$20,349.00	\$68.00	\$20,808.00	\$76.00	\$23,256.00
2 24" RCP STORM SEWE AND BACKFILL, COMPL	ER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	731	\$79.50	\$58,114.50	\$81.00	\$59,211.00	\$94.00	\$68,714.00
3 30" RCP STORM SEWE AND BACKFILL, COMPI	ER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	338	\$100.50	\$33,969.00	\$103.00	\$34,814.00	\$122.00	\$41,236.00
4 36" RCP STORM SEWE AND BACKFILL, COMP	ER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	72	\$138.00	\$9,936.00	\$142.00	\$10,224.00	\$161.00	\$11,592.00
5 42" RCP STORM SEWE AND BACKFILL, COMPI	ER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	416	\$184.00	\$76,544.00	\$190.00	\$79,040.00	\$208.00	\$86,528.00
6 48" RCP STORM SEWE AND BACKFILL, COMP	ER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	365	\$219.00	\$79,935.00	\$227.00	\$82,855.00	\$244.00	\$89,060.00
7 54" RCP STORM SEWE AND BACKFILL, COMP	ER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	788	\$320.00	\$252,160.00	\$333.00	\$262,404.00	\$352.00	\$277,376.00
8 60" RCP STORM SEWE AND BACKFILL, COMP	ER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING LETE IN PLACE	LF	496	\$370.00	\$183,520.00	\$383.00	\$189,968.00	\$407.00	\$201,872.00
	OR CAST-IN-PLACE MANHOLE FOR 42° STORM SEWERS EPTHS, INCLUDES FINAL ADJUSTMENTS AS REQUIRED,	EA	7	\$3,600.00	\$25,200.00	\$3,500.00	\$24,500.00	\$3,200.00	\$22,400.00
	OR CAST-IN-PLACE MANHOLE FOR 48" STORM SEWERS PTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	15	\$9,000.00	\$135,000.00	\$7,500.00	\$112,500.00	\$7,000.00	\$105,000.00

\$54,600.00

\$78,000.00

\$3,000.00

\$900.00

\$78,000.00

\$23,400.00

\$2,400.00

\$2,200.00

\$62,400.00

\$57,200.00

\$2,100.00

\$3,000.00

EΑ

26

26

11 STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C"), ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET,

12 STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED

CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE

COMPLETE IN PLACE

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158
CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS
JUNE 7, 2024
LJA ENGINEERING, INC.

5) BLAZEY CONSTRUCTION SERVICES, LLC

6) R CONSTRUCTION CIVIL, LLC

L. MARTINEZ JUNE 7, 2024 1968-14032 (9.2)

4) CROSTEX CONSTRUCTION, INC.

				4) CROSTEX CONS	TROCTION, INC.	3) BLAZET CONSTRUC	HON SERVICES, LLC	0) K CONSTRUCT	ION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	ARD 20' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I : IN PLACE	EA	2	\$4,000.00	\$8,000.00	\$2,600.00	\$5,200.00	\$2,100.00	\$4,200.00
	ARD 20' PRECAST OR CAST-IN-PLACE REINFORCED CONCRETE DEPTHS, COMPLETE IN PLACE	EA	2	\$2,500.00	\$5,000.00	\$3,600.00	\$7,200.00	\$3,650.00	\$7,300.00
	ST OR CAST-IN-PLACE BOX INLET WITH EJ 6500 BEEHIVE S TEMPORARY GRATE PLUG AS NECESSARY, ALL DEPTHS, ICE	EA	2	\$6,500.00	\$13,000.00	\$3,800.00	\$7,600.00	\$3,400.00	\$6,800.00
SIDES, RE-ESTAB	ED CONCRETE SLOPE PAVING, INCLUDES TOEWALLS ALL LISH BACKSLOPE SWALE & REDRESS AND REVEGETATE SIDE NG CONDITION OR BETTER, COMPLETE IN PLACE	SY	151	\$125.00	\$18,875.00	\$111.00	\$16,761.00	\$120.00	\$18,120.00
17 TRENCH SAFETY	SYSTEM, ALL DEPTHS, COMPLETE PLACE	LF	3517	\$1.05	\$3,692.85	\$0.11	\$386.87	\$0.10	\$351.70
MONTGOMERY COUNTY	M.U.D. NO. 158 STORM SEWER ITEMS SUBTOTAL:				\$1,024,695.35		\$1,033,071.87		\$1,096,405.70
MONTGOMERY COUNTY	M.U.D. NO. 158 MISCELLANEOUS ITEMS								
	STRUCTION EXIT, INCLUDING INSTALLATION AND OMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$2,200.00	\$2,200.00	\$1,500.00	\$1,500.00
OFF-ROAD TO OF	ESTIMATED QUANTITY OF 5,800 CUBIC YARDS) TO BE HAULED FSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), MPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE	LS	1	\$34,800.00	\$34,800.00	\$12,200.00	\$12,200.00	\$38,000.00	\$38,000.00
	DLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY G TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$750.00	\$750.00	\$1,700.00	\$1,700.00	\$1,000.00	\$1,000.00
4 FURNISH PERFOR COMPLETE IN PLA	RMANCE AND PAYMENT BONDS PER CONTRACT DOCUMENTS, ACE	LS	1	\$18,847.90	\$18,847.90	\$26,500.00	\$26,500.00	\$25,000.00	\$25,000.00
	STABILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED ECTION OF ENGINEER) COMPLETE IN PLACE	CY	1	\$100.00	\$100.00	\$50.00	\$50.00	\$50.00	\$50.00
	R UTILITY LINES, ALL LINES SIZES AND DEPTHS, (TO BE USED ECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$40.00	\$4,000.00	\$25.00	\$2,500.00	\$40.00	\$4,000.00
7 EXTRA WATER LIF	NE FITTINGS, COMPLETE IN PLACE	TON	0.01	\$10,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$100.00
	GATE VALVE AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE IE ENGINEER) COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$1,450.00	\$1,450.00	\$1,000.00	\$1,000.00
	GATE VALVE AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE LE ENGINEER) COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00
	GATE VALVE TO FINISHED GRADE AS REQUIRED (TO BE USED ECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
	SANITARY SEWER WET SAND CONSTRUCTION, ALL LINE SIZES BE USED ONLY AT THE DIRECTION OF THE ENGINEER), ICE	LF	100	\$5.00	\$500.00	\$15.00	\$1,500.00	\$5.00	\$500.00
	STORM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES BE USED ONLY AT THE DIRECTION OF THE ENGINEER), ICE	LF	100	\$10.00	\$1,000.00	\$20.00	\$2,000.00	\$5.00	\$500.00
	WET SAND CONSTRUCTION UNDER MANHOLE, ALL DEPTHS, (TO THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$250.00	\$250.00	\$500.00	\$500.00	\$50.00	\$50.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 32
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158
CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS
JUNE 7, 2024
LJA ENGINEERING, INC.

L. MARTINEZ JUNE 7, 2024 1968-14032 (9.2)

			4) CROSTEX CONSTRUCTION, INC.		5) BLAZEY CONSTRUCTION SERVICES, LLC		6) R CONSTRUCTION CIVIL, LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
14 ADJUST EXISTING MANHOLE RIM ELEVATION AS REQUIRED (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$220.00	\$220.00	\$150.00	\$150.00
15 EXTRA HYDRO-MULCH SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC AC	1	\$1,000.00	\$1,000.00	\$2,700.00	\$2,700.00	\$1,500.00	\$1,500.00
16 EXTRA BROADCAST SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$450.00	\$450.00	\$1,000.00	\$1,000.00	\$650.00	\$650.00
17 EXTRA REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$2.50	\$250.00	\$1.00	\$100.00
18 EXTRA FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	100	\$3.00	\$300.00	\$1.90	\$190.00	\$1.00	\$100.00
19 EXTRA BURLAP BAG BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$25.00	\$25.00	\$50.00	\$50.00	\$10.00	\$10.00
MONTGOMERY COUNTY M.U.D. NO. 158 MISCELLANEOUS ITEMS SUBTOTAL:				\$67,922.90		\$57,260.00		\$75,860.00
BIDDING SUMMARY								
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 158 WATER ITEMS				\$157,686.85		\$175,443.67		\$144,563.70
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS				\$272,694.90		\$267,733.29		\$232,346.90
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 158 STORM SEWER ITEMS				\$1,024,695.35		\$1,033,071.87		\$1,096,405.70
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 158 MISCELLANEOUS ITEMS				\$67,922.90		\$57,260.00		\$75,860.00
TOTAL AMOUNT BASE BID				\$1,523,000.00		\$1,533,508.83		\$1,549,176.30